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BOpenERPH /1
BLaunchPad ( BUfSJEACAS!)

mo
& P (Client) , ik 45-¥i (Serveur)
B4} PE (PostgreSQL)

m % [ (Interface)

Wi & TS 2 (Administration)
AR ENTE
o PRI 4H (User and Group)
BRI (ACL)
#i L (Module)
21 (Backup)
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B /) 2% % (Object, or Resource, or Model)

o ] E SCfR) LR SR
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o TEVERIFL

B HALE (View)
o JRELFNIEL
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gl - 4R

B {2 (Report)
® i
 OpenReport, Tiny RML2PDF
® Tt
® kA
« RML
» OpenOfficedt #
B 1] 3 (Wizard)
® |:F
® & X
® L/t
W %54 (Action)
® i
® & X




vt - 55K

B Web-Services#[1: XML-RPC

® Pythonyufi

® Rubyiuf




WA TR T 4R e 7

B OpenERP
® /it: ERP (GNU GPL) FHstHiX
® Python: http://www.python.org R4~ >= 2.4
® X /MRS A%
® 324K
« PostgreSQL

« OpenERP - k5545
« OpenERP - % (Web-Client, GTK-Client)




MLaunchPad 385

B LaunchPadJ\
C%ﬁ?kﬁ%%ﬂﬁ$f & kg4 b
® {HFulE ﬁ@?ﬁmHFﬂﬁ

o VAACHERRASE . (LlBazaar LAt

B B

bug’® #

ﬁnn%‘?ﬁgf@ CIEED

FAQE #

B LaunchPadMik: http://www.launchpad.net/openobject




LaunchPad — Bazaar ) Z22&

* AN N2 TR

sudo gedit /etc/apt/sources.list

* IMAIX—AT
deb http://ppa.launchpad.net/bzr/ubuntu intrepid main

WPIR GRS
sudo apt-get update
sudo apt-get install bzr




LaunchPad — T OPENERPJE

B — A H %
$> mkdir ~/openerp/stable/6.0 -p
$> cd ~/openerp/stable/6.0

SRR FRCAS YR AR
$> bzr clone Ip:openobject-server/6.0 server
$> bzr clone Ip:openobject-client/6.0 client
$> bzr clone Ip:openobject-addons/6.0 addons
$> bzr clone Ip:openobject-client-web/6.0 client_ web

* PAFEA AT
$> bzr clone Ip:~openerp-commiter/openobject-ddons/
trunk-extra-addons extra-addons

* 61| EEOPENERPH 1 H 5% it i 42

$> cd server/bin/addons
$>1In-s ../../../addons/* .




Python >= 2.4/ %3

* O PR 2
#> apt-get install python
#> apt-get install python-egenix-mxdatetime
#> apt-get install python-xml python-Ixml
#> apt-get install python-libxml2 python-libxslt1
#> apt-get install pytz
#> apt-get install python-yaml
#> apt-get install python-mako

* S5 LA e e
#> apt-get install python-psycopg2
#> apt-get install python-pydot graphviz python-pyparsing
#> apt-get install python-imaging python-reportlab python-pychart
#> apt-get install python-tz

AN VIR
#> apt-get install python-gtk2 python-glade2
#> apt-get install python-matplotlib python-hippocanvas




PostgreSQL H#E FE i) 2 3%

#> apt-get install postgresql

*G1 s PostgreSQLH /-
#> su - postgres
$> createuser YOUR_USERNAME

* 22 psql, a4 T A HAE PR 7
#> apt-get install postgresql-client-common




Fth 23 OPENERP

* M55 im e s AT
$> cd ~/openerp/stable/6.0/server/bin
$> ./openerp-server.py
$> ./openerp-server.py --verbose
$> ./openerp-server.py --debug
$> ./openerp-server.py --update=all --database=DBNAME
$> ./openerp-server.py --update=MODULE_NAME --
database=DBNAME
$> ./openerp-server.py --init --database=DBNAME

“SBAT gtk ;i
$> cd ~/openerp/stable/6.0/client/bin
$> ./openerp-client.py
$> ./openerp-client.py —verbose

HE
--help &7=#H ) N




B KRR

W [0 ) IRSS (B BE A5 A IR 55 a8 Lia4T)
® X% (Object)
® X %k A WU (ORM)
® K (View)
® [ 1/Ei (Workflow)
® n]5 (Wizard)
® fii% (Report)
m )
® GTK Client
® \Web Client
_BiRSIEC A N
® XML-RPC
 Port 8069
o SCFFMRSS A AP
® NET-RPC
 Port 8070
o FHIUL, A N
« ¥ HpythonXf % > 414t 1. K Pickle (python)
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3]

OpenERP Server

Base Module

Distribution

Z

Report Engine

Workflow Engine

WebServices

PostgreSQL

XML-RPC : BOBD

OpenERP Client

7] Forms

] Calendar (= Report 4 Wizard

~__/ N

[£] Trees

windows Action Pool

illy Graph

RPC Gateway

N

User Interface

MET-RPC : BOTO

Core Base
Widgets
Forms Trees Search

WS 22




i Module (1)

B X} % (Object)
® Bt (Columns)
® I{I\{H (Default Values)

® 2 (Constraints: constraints, sql_constraints, check_recursion)

® 17 (Order)

B & (View)
® Form, List, Tree, Graph, Calendar, Gantt
® On Change

W LN A AR B (Data & Demo)

B 2k (Inherit)




R Module — B/Ng5 )

module name/
~_1nit . py
__openerp__.Dpy
module name. py
module name view. xml

FE:
A7 S AL Srmodule name. py flxml XA,
X TR IR A E A R H R B 25 s S A




fEi Module — 52345

module name/
~_1nit . py
__openerp__.py
module name. py
module name 2. py
module name 3. py
module name view. xml
module name workflow. xml
module name wizard. xml

module name report. xml i18n/

module name demo. xml fr FR.po

module name data.xml en_US. po
report/ module name. pot

~_init . py security/

report. py some. object. csv  #5E XA PR 2 U5 1a) K )

wizard/ file.xml #od H P A

~1nit . py

wizard. py




PR — S5

Module ]
e __/' L i ...........
[ WIZEFC'S_]— e ﬁ_openerp__py
+'. - ﬂ 'Q' ------ q-..h:.
@ pyon Code | WorkFlow |,
.....” """""" LR . YITIIIIIIT \. ,.-q-';::' ) LTI .'l
[VIBWS }— ek EXTW XML Files
=1Form : P Python Code .
JT[EE 3 ..‘ ......... Y L '..+ ) PPTTL LAY
Views - Objects
il Graph il . _jects |
| Calendar ETIM XML Files | Demo
Shortcuts Data
—  ECM XML Files |
Actions ) Sequence
Menu ltems | . Unit Test
" Reports |_ _ SN ) Object Relational Mapping
— T . ™ Python Code TEMEPY_{ Business Object

ETM XML Filgs
ﬂ Pythan Gm‘i_e:., g

E OpenOffice Document

| __init__.py




__init_.py # __ openerp__.py faiifr

module name / init .py
import openacademy

module name /  openerp .py

{

"name’ : Module Name’,

“version’ : 0.1,

“author’ : ’Tiny ,

“website’ : http://www. openerp. com ,
category : Tools’,

“description’ : ’description of this module’,
"depends’ : [ base’ ],

“init xml’ : ["module name data.xml ],

“demo_xml’ : [’module name demo.xml’ ],

“update xml’ : [ 'module name view.xml,
"module name workflow.xml 1,
“installable’ : True,

“active’ : False,

J




module_name / module name.py B

# module name/module name. py

from osv import osv, fields #%EXFE5| ANKIH
# OpenAcademy Training Object BIFREN G I AE
class openacademy training(osv.osv) :
"name = ‘openacademy. training’ BT 5 24 TR
_description = “OpenAcademy Training” HXF B A
_columns = { #e B
"name’ : fields. char C Name’ ),
‘date start’ : fields.date( ‘Date’ ), #IT 46 H HA
‘description’ : fields. text( ‘Description’ ), #IFJIHNE
‘active’ : fields.boolean( ‘Active’ ), HAS IO SR & A %K
}
~order = “date start desc” #LIF4E H BAH AR
openacademy training() X G0 N4




it Module - Profile

Profile bt 7-fl: N ikProfilefi PN g L= A 1% 1~"Module, #4427 W HT R &

{

"name’ : Manufacturing industry profile’,
“version’ : 1.0,

“author’ : ’OpenERP’,

*website’ : http://www. openerp. com ,
category’ : Profile’,

“depends’ : ['mrp, crm’,’ sale’,’delivery ], ~demo xml’ : [],
“update xml * : [1,

“installable’ : True,

“active’ : False,

}




XK RS (ORM)

*Everything is object
*Fields
*basic
echar, text
*boolean, integer, float
«date, time, datetime
*binary
sselection, function, related
relational
sone2Zone
soneZ2many
*many2one
Many2many

from osv import fields




ORM - Fields - Basic

*string
*boolean
sinteger and float

«date, time and datetime

*binary (File)




ORM - Fields - Basic - Char & Text

_columns = {
"name’ : fields.char(’ Name’, size=32),
“description’ : fields.text(’ Description’ ),




ORM - Fields - Basic - Boolean & Integer & Float

_columns = {

“active’ : fields.boolean (" Active’),

"level’ : fields.integer (' Level’ ),

"price’ : fields.float( Price’, digits=(16,2)),

J

_defaults = {

“active’ : lambda *a: False,
’level’ : lambda *a: 1,
"price’ : lambda *a: 1.0,

J

ER:
X 7B active == False [fJRecord2 H I R JEd, ASAEmf L wox =T
MEE" .




ORM - Fields - Basic - Date & DateTime & Time

_columns = {

"birthdate’ : fields.date (" BirthDate’ ),
"create at’ : fields.datetime ( Date & Hour’),
"time’ : fields.time ( Hour’),

J

_defaults = {

"birthdate’ : lambda *a: time.strftime ( %Y-%m—%d’ ),
“create at’ : lambda *a: time.strftime (' %Y-%m—%d %H:%M:%S’ ),
“time’ ;: lambda *a: time.strftime ( %H:%M: %S’ ),

J




ORM - Fields - Basic - Binary

_columns = {

" image’ : fields.binary (" Image’)




ORM - Fields - Extended - Selection

_columns = {
"state’ : fields.selection (

[ C draft’, 'Draft’), ( confirmed’, ’Confirmed’ )],
"State’ ),
}

_defaults = {
’state’ ; lambda *a: ’draft’,

J

¥ E Xstate T AR Draft il Confirm, 785 B 1 s i 2 — A FHiAHE,




ORM - Fields - Extended — Function(1)

def get average value( self, cr, uid, ids, name, args, context=None) :
pass

_columns = {
“avg : fields.function ( _get average value, fcnt_inv=_something write,
fcnt_search=_something_search, method=True, string= “Fields” ,
type= “float” , store=True )

J

T
fields.function(fnct, arg=None, fnct_inv=None, fnct_inv_arg=None, type="float",
fnct_search=None, obj=None, method=False, store=False, multi=False)

fnct : TG SCHTRREL, IR [FIA B

fnct_inv : TIE XHIRREL, IRAFAFBUERIEPRFE .

type : PRECR [PIAFBRAY, AT LLZfunction CLAMRAEA] B 2R Y
fnct_search : & XAFBMHERITA.

method : TrueR /R AR FBRRECK B TXS M5, B, kKA T2RmEs.
store : ETIRAFA T B BIEA E, BRIME S False.

multi : 04, multi 12 AR 7B S — IR E




ORM - Fields - Extended — Function(2)

store = {
‘object_name’: ( function name, [field name1’, ‘field nameZ2’], priority)

}

7

StorelJ & L&, X4 ‘object_name’ 1Bt fi[field_name?’, ‘field_name2' |k 444, RS0
H 31 H e #function_name, function_namei [F] N FEH v & AN % (A& ‘object_name’
X5 dxMids, ZidsS &G fnct inviek B F B E




ORM - Fields - Extended — Property

class res_partner(osv.osv):

__name = "res.partner”

_inherit = "res.partner”

_columns = {

'‘property _product_pricelist'
fields.property( 'product.pricelist’, type='many2one’, relation="product.pricelist',
string="Sale Pricelist", method=True, view_load=True,

group_name="Pricelists Properties” ),

}

<record model="ir.property" id="property product_pricelist">
<field name="name">property product pricelist</field>
<field name="fields_id" search="[('model','=",'res.partner’),
('name’,'=","property_product_pricelist')]"/>
<field name="value" eval=""product.pricelist,'+str(list0)"/>
</record>

*:

AABFE Y T E X Gires.partner 14 11 5 21 %) 4 product. pricelistif)many2one ) 7 B
property product_pricelist . {HfImany2oneZSAF K&, AFEAEIEELEN B
res.partner_t-, [ &1 57—k < R 3Kir.property




ORM - Fields - Relational - one2many

[F2| Offers L o = =
Mame
lere Offre

class openacademy instructor (OSv.0SV) :
_name = ’openacademy. instructor’
_columns = {
“training ids’ : fields.one2many (

‘openacademy. training’ , ‘instructor id’ ,’ Trainings )

J

e TIEIBREEA 28000, BREERIEINNIR] 2 X 22 (one2many ) )28 R «




ORM - Fields - Relational - many2one

_columns = {

“instructor id’ : fields.many2one (" openacademy. instructor’,
*Tnstructor’ )

J

E: ZAEHImRA TR




ORM - Fields - Relational - many2many

[ ] |=ﬂ=gdd| |=-Eemmre

Hame City Country Tvpe Code # of Contact:

_columns = {

"participant ids’ : fields.many2many (' openacademy. participant’,
" openacademy training participant rel’, ’training id’, ’participant id’,
’Participants’ )

J

- —RrEAER S Z 5
- —IIRVIREERT AR A4




ORM - Fields - Relational - related

_columns = {
‘fiscalyear _id’: fields.many2one(‘account.fiscalyear’, ‘Fiscal Year’, required=True,
‘company_id'": fields.related('fiscalyear _id', '‘company id', type='many2one’,
relation="res.company’, string='"Company', store=True, readonly=True)

}

Vot
Zrelated® X', RGMRIE—. 1S4 fiscalyear_id’, ‘company_id’ $F5%F %
‘account.fiscalyear' 1) Bt‘'company_id’ it 5| H [I'res.company’ffjic s, MI1E2] 2\l X 4% .




ORM - Fields — Attributes(1)

« Attributs i HH
ssize: FEK
edigits: FHTVF Y, Ul B3R/ INEGES o 2
*select: A PBUERH Tt yE44 (“True”|“False”, 1, 2)
-select=1 or True: A 7B T — ki 41k
select=2: AFBH T g g4t
*required: W7
sreadonly: HiE
domain: many2one. many2many B, I TIERE RN G uE A
*string: FEEIRA
*translate: A 7B n] #IVE
*change_default: Jll 7 B S B2 A nT OB T A B, A {E % : False. #l1(Z L
res.partner.address, City 7 BEERIAE MK Zipii AL,
*help: Tooltip
*states: & X frEstate 4 431 Jm 1k

B 5% . http://shine-it.net/index.php/topic,2159.15.html




ORM - Fields — Attributes(2)

« Attributs i BH
econtext: 7Econtext Hf—48Ar &, XL B 1] ] T-on_change i & domain £k 5.
on_change: YA 7 BAE oA s, i Serversii sk ¥, 417
on_change="onchange_shop_id(shop _id)".
erelation: 4 A7 BOZ — AN | A E IR R Mid B, $88 REEdER 4 . 8 H H trelated A

function 2ERY B

« JURICH:
*ondelete
eset null: JHBR 0 sk, Madk 2] il 15 HE Anull,
-set default: MIE Fic S mE, MR Fidkm o H & A EE.
ecascade: MR Fic %,  ZMIBR M id
erestrict: 4IHEA ML, A RVFMIER Eidxk.
*no action: AN KEUEENE, BEINER 3 idsx, (HAR B Ml g AL

B 5%, http://shine-it.net/index.php/topic,2159.15.html




ORM - domain

domain ;&£ OpenERP) 72 i H 113t 98/ R 51

domain #1ELRT
° |<>l’ I!=|, |>=I, |<=|’ I<I, |>|
* 'like’, 'ilike', 'not like', 'not ilike'
*'in', 'child_of*

domain X REAERT
« & (AND)
* | (OR)
« 1 (NOT)




ORM - domain faj B~

o {4 B Domain 41 ;

domain = [(Cuser id", "=, user_id), (' state’, "=, ’installed )]
>>> "user id" = user_id AND "state’ = "installed’

R
domainFiAXH, RN G FB A, 1% F B A Ul " ERr, L nf UEXT S
P ERETB. WAGER user_id.name”. AL, WA, luser id.id .




ORM - domain & Z%/~1

« 2 ZDomain~ 4
[ C reconcile id’, =, False),
( account id. type’, =, ’payable’),
( amount to pay , >, 0),
17,
( date maturity’, ~ <, ’2009-01-01"),
( date maturity’, =, False)]

SN
reconcile_id = ' f
AND
account_id.type = "payable’
AND amount to pay > 0 AND

( date_maturity < 2009-01-01 OR date_maturity = "’ )

b

7
KA 2 3RE 8, BUAERIERTE AND .




ORM - Special methods - Predefined Methods

osv

+create(cr,uid,vals:dict, context: {}=None): integer
+read(cr,uld,ids: []1,fields: [].context:{}=None): dict
+write(cr,uid,vals:dict, context:dict=None)

+unlink (cr,uid, ids: [1,context:{}=None)
+searchicr,uid, domain: [],offset, limit, order, context, count): [I]
+browse (cr,uid, domain: [],context:{}=None): array

+copy (cr,uid, 1d, default=None, context:dict=None)
+name_geticr,uid,ids,context:dict=None): array
+name_search{cr,uid, name,args, operator, context:dict=None, limit)

FE X7

screate: Bl & it sk

swrite: B HTIC R

sunlink: xR 1c %

*read:SEHIC 3 H I B

*copy B Hilidx

*search: 8l k

*browse: LRI R 0%
‘name_get: IR [P FRFRIRATIC R
*name_search:3E 1 Z FRAEAH OC I A 2%

*init : _auto = False M1EH, 8% F4800% 7 VL0 2 5 AL I
« auto_init : I BEHIZ T IECI @ FEZR 5 8SQLY %




ORM - Special methods - create

« ZITIEB RN R (FEEPEER T Insert— 4510 %)
def create(self, cr, uid, vals, context=None) :
pass

*Example 1
obj = self.pool.get(’ openacademy. instructor’)
id = obj.create(cr, uid, { name’ :’ Stephane Wirtel’, "email : ’stephane@tinyerp.com’ })

‘Example 2 : E#res.users X} % [ICreate 512, FRH| 5k i 2 G120 1 ) .

def create ( self, cr, uid, vals, context=None):
USER_LIMITED = 20
cr.execute (" select count (1) as number from = % (self.pool.get( res.users’).table, ))
value = cr.fetchone () [’ number’ ]
if value < USER _LIMITED:
return osv.osv.create (self, cr, uid, vals, context=context)

else:

raise,osv.except_osv ((“Warning”), ("Don’ t forget to call your integrator to pay the full
contract !1!17))




ORM - Special methods - write

« BHdK, AT HUTEdREE M Updatedr 4
def write(self, cr, uid, ids, vals, context=None) :
pass

« Example
obj = self.pool.get( ‘openacademy. instructor’ )

obj.write (cr, uid, ids, { active’ :True})




ORM - Special methods - unlink

CBIBRICE, HI THTHR I (I Deletet 4
def unlink(self, cr, uid, ids, context=None):
pass

« Example

obj = self.pool.get(’ openacademy. instructor’)
obj.unlink (cr, uid, ids)




ORM - Special methods - read

o EEEICRTEE TR
def read(self, cr, uid, ids, fields, context=None) :
pass

« Example : %Hid in ids [Fid 3% 1) name 1 email “£Bt

obj = self.pool.get(’ openacademy. instructor’)
records = obj.read(cr, uid, ids, [ name’, " email ])

for name, email in records:

pass




ORM - Special methods - copy

« SHFRRidiidx, AL E. RS BE, SNBSS E S AL,
« {§i ] /7% copy_data. Default $& & Hric s HI BRI

def copy(self, cr, uid, id, default = None, context = None) :

pass




ORM - Special methods - search

o fii FHDomain & {48 %%
def search(self, cr, uid, domain, offset=0,
limit=None, order=None, context=None, count=False):
pass

« Example

obj = self.pool.get(’ openacademy. instructor’)
ids = obj.search(cr, uid, [(Cemail’,” =,  stephane@tinyerp.com’)])




ORM - Special methods - browse

o W FE EidEids X 5
def browse( self, cr, uid, select, context=None, list_class=None, fields_process=None) :
pass

*Example
obj = self.pool.get( ‘openacademy. instructor’ )

ids = obj.search(cr, uid, [('email','=",'stephane@tinyerp.com')])
instructors = obj.browse (cr, uid, ids)

for instructor in instructors:

rint ,name: %s”,%,instructor.name.
rint “email: 0%3 % MRS EGIERSi




ORM - Special methods - name_get

A iname,  BRIARE SRR Finame 7B, AT LU AT i S
def name get( self, cr, uid, ids, context=None):
pass

*Example: ANWik[vlname+E, ix[4lid
obj = self.pool.get(’ openacademy. instructor’)
names = obj.name_get(cr, uid, ids )

for id, name in names:

pass




ORM - Special methods - name_search

IR A PR adomain & R il sk, IR [FREsR A RYIER
def name search( self, cr, uid, name= °’
context=None, limit = 100 ):

pass

*Example
obj = self.pool.get(’ openacademy. instructor’)
names = obj.name_search(cr, uid, domain=[( email’,’ =

) )
b

, domain=None, operator= “ilike” ,

stephane@tinyerp. com’ )])




ORM - Special methods - init & auto_init

* init(cr)
_auto = False

e e RE VI

* auto _init

AR R R G X R




ORM - Predefined Fields

EATEOL R, OpenERPIFT XS RIS, SAEBHR D HAa I~k 7B

eid: X%id, EERIA T
screate uid: il BEEA I H Fid
screate date:ic >l @S A]
ewrite uid:idsk S HE M Fid
‘write date:ic.sx 5T [H]




ORM - Special Fields (1)

‘name
*Char
_columns = {
"name’ : fields.char (" Name', size=64)

J

*Sequence
*Integer

_columns = {
"sequence’ : fields.integer (" Sequence’)

J

_defaults = {
’sequence’ : lambda *a: 0,

J




ORM - Special Fields (2)

sactive
Boolean

_columns = {
“active’ : fields.boolean( Activable’)

}
_defaults = {
“active’ : lambda *a: True,
}
state
*Selection
_columns = {
, . istate’ : fields.selection([ ( ‘draft’ , ‘Draft’), ( confirmed’,
Confirm' )], ’State’)
}
_defaults = {
“state’ : lambda *a: ’draft’,
}




ORM - Object Declaration

OpenERPIFIX 4 @A
o DA

* name
* columns

o ]k JE M
* table
* description
* defaults
* order
* rec_name
* auto
* constraints
* sql constraints
* inherit
* inherits

W% X ITEA 52, http://shine-it.net/index.php/topic,2159.0.html




ORM — Object Declaration - _name

TRERN R, AT MR h UGS B A IKey i, Hog Ul H 2

"module_name.class name”:

_name = ’openacademy. instructor’

FoR:
XXM BIER A L, R4 H_"EIS &4




ORM - Object Declaration - _columns

E X G R E T, o Bl R B

_columns = {
"name’ : fields.char( 'Name’, size=64 ),

)




ORM - Object Declaration - _table

W6 GO I R E R 44 o BRINTS DL XS 44 7 el " HIAS
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_table = ‘openacademy instructor’




ORM - Object Declaration - _description

XS AHIE, ] LURAEE T

_description = " Instructor’




ORM - Object Declaration - _defaults
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def compute date( self, cr, uid, ids, context = None ):

pass

_defaults =, a{ctlve . lambda *a: True,

"date” : _compute_ date,




ORM - Object Declaration - _order

feE I ORISR R 5k, 1 Bl date 7 BUE - HES

_order = ’date desc’




ORM - Object Declaration - rec_name

f& & name_get 7 v L IR [FIMEAN B E, BRI L2 IR BN S 1) name B fE, (H
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_rec_name = title’




ORM - Object Declaration - _auto

BECSMEIHE, A RS RGO, S True, WIABIEIEL, 4
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5t M False.




ORM - Object Declaration - _constraints

fRE Il sKIEA . R R A 4. T IR N H 7 v check _datef 75 57 Bt startdate,
enddate [){H, Wifcheck AiEid, FREE“4E o) H 0T LA H .

def check date( self, cr, uid, ids ):

pass

_constraints = [
(check_date, ‘iR HIHMLIURKTARGHE , [ startdate’, "enddate’ ] ),




ORM - Object Declaration - _sqgl _constraints
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unique(name), WIHIE R AW, REF“APRLINME—! 7

_sql_constraints = [
( ‘uniq name’ , ‘unique(name)’ , ‘ZFRIME—! "),

]




ORM - Object Declaration - _inherit (1)

SRR T —: PRGNS, NirtETable, /&7t )R Table d #5hn5E.

res.partner
tname; fields. char
[‘.’\ res.partner
P |+name: fields.char
inherit +lang ids: fields manvamanv(‘res . lang' )
A FIEEEN naneBt , EMEEF BT EXR , T80
res.partner S
+lang 1ids

class res partner add langs(osv.osv) :

_inherit = " res. partner’

_columns = { " lang ids’ : fields.many2many ( res. lang’ , "res lang partner rel’,
"partner id’, ’lang id’, ’Languages’),

J

res_partner_add_langs ()




ORM — Object Declaration - _inherit (2)
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res.partner rES.partner
tname; fields char iname; fields char
9 _inherit = 'res.partner'
_name = 'formateur’ > formateur
+name: fields. char
formateur THHEEN T _nameFB, RESHEXNS, it |+lang ids: fields.many2many (' res.lang’
+lang ids: res.lang B, FridRR s g i % B

class formateur (Osv.osv) :
name = ' formateur’
_inherit = " res. partner’
_columns = {
, _ . lapng ids’ : fields.many2many ( res. lang’, "res lang partner rel’, ’partner id’,
lang id , Eanguages ?,
}

formateur ()




ORM — Object Declaration — _inherits (3)
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account.analytic.account

account.analytic.account +name: fields.char
+code: fields.char

+name: fields.char
+code: fields.char

cursus.category

+analytic_account_id: fields.manyZone('account.analytic.account')
> +description: fields.text

#name: fields.char
#code; fields char

_inherits = {'account.analytic.account’:'analytic_account id'}
_columns = {
'analytic_account id' : fields.many2one('account.analytic.account')

}

0

cursus.category

RS TEEHFE , FEMTbLF BT EEIRIFE ( £8—naneFeode 3 » {BATELHE
FARRLESFER ( Bidinheri t=PENBFHRREED .

+description: fields fext

class cursus category (OSV.0SV) :
_name = ’cursus. category’
_inherits = { "account. analytic.account’ : “analytic account id }

_columns = { "analytic account id" : fields.many2one (
“account. analytic. account’, ’Analytic Account’ ),

“description’ : fields.text(’ Description’)
}

cursus_category ()




ORM - View Mapping
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« auto = False
- PRI S TR
o T init

def init(self,cr):
cr.execute("
create or replace view VIEW_NAME as (

1
2
3
4
5 )
6

")




XML Format
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*module name data. xml
*module name view. xml
*module name wizard. xml
*module name workflow. xml
*module name report. xml
*module name demo. xml




XML Format - Example

<?2xml version="1.07?>
{openerp>
<{data noupdate="1">

</data>
</openerp>

 noupdate="1" Ay, LT RITIEA LT A AFE A




View — #fid (1)

B 2K (View)

Object H Ttk 5584w, ViewH T-1m I P e BLEHE DL &
EINEPG . ViewlIfy B F5field, seprator, group, buttonZf H
PRV TT R

_ IS g
4|2 (Tree View)
2% . (Form View)
A~ (Search View)
«H JJj(Calendar View)
“}E %] (Diagram View)
K]/ (Graph View)
«H 45 Kl (Gantt View)




View — il (2)

Search: Manufacturing Orders : = EEIS

: V‘f 'E‘ Reference : Product : Routing & Source Document
PENDING READY IH PRODUCTION LATE | Q Q

* Group By...

" Search | Clcar A e |-Fiters— [v]

Manufacturing Orders E 1-20f2

|:| REFERENCE DSi-lI-_IEEDULED PRODUCT PHDD&?; Egﬂ:nDLlET ROUTING HTﬂDI.-Jr:IS- c,;g::; ;EEEEII:-EHT STATE

1 & wmomooo2 g‘;:ﬂ’;”” |[:-'I.:EF;|LIIJ_|E|SFEH] | 1.00 PCE E“E:I”E:a”stﬂtrmg 300 050 MO/0000Y Efuﬂddlj‘;”
processor config

] ¢ moioo001 g?fﬁg” [PC1] Basic PC 1.00 PCE AssemblyLine! 200  1.00 g;ﬂf

-
-

Tree Vlew

2.00 5.00 1.50




View — fifid (3)

Manufacturing Orders - = - MEE

Reference : MOM0O0002
|. 'I||I =& E || " ance | 1 of 2

Reference : |MOJ/00002 Scheduled date : | 06/30/2011 EI-T:!ﬂ Source Document ? : |:MO/000D1 |

Product : ICF‘U_GEN]HeguIarpr‘Ek| v Product Qity : [1.00 Product UOK : |PCE Ql - mg,Change City

Conzumed Products | Finished Products  Work Orders  Scheduled Products  Extra Information

Bill of Material . |Regular processor config Q- Routing L Component Manufacturing ‘:ll ¥
Raw Materials Location ® : |Stock Q| ~  Finished Products Location * : |Stock ‘:ti Y
Products to Consume m 1-40f4 Consumed Products E 0-0ofl
PRODUCT QTY UOM EﬁﬂCE PROCUCT QTy WO PROCUCTION LOT

p [CPU1] Processor ANMD
Athlon XP 1300+

[MB1] Mainboard ASUStek
&
ATNGX

ﬁ’ [FAN] Regular caze fan

1.000 PCE Stock

1.000 PCE Stock

1.000 PCE Stock




View - File Description

<?xml version="1.0" encoding="UTF-8" 7>
<openerp>
<data>
<!I-- views -->
<record model="ir.ui.view"id="openacademy _training_form">

</record>
<I-- actions -->
<record model="ir.actions.act_window"id="openacademy _training_act">

O©CoONOOPr,WN -

11 </record>

12 <!-- menuitem -->

13 <menuitem name="Tools* id="openacademy _training_mi"
14 action="openacademy_training_act" />

15 <\— fRIEHE 6.0 Z i -->

16 <shortcut name="Draft Purchase Order (Proposals)“ model="purchase.order"
17 logins="demo“ menu="m"/>

18 </data>

19  </openerp>




<record model="ir.ui.view" id="openacademy training_form">
<field name="name">openacademy.training</field>
<field name="model">openacademy.training</field>
<field name="type">form</field>
<field name="arch" type="xml">
<form string="Training">
<field name="name" select="1" />
<field name="date_start" select="1" />
</form>
<[field>
</record>

_ 2 OO NOOPA,WN -

- O




View - View - List

1 <recordmodel="ir.ui.view"id="openacademy _training_tree">
2 <field name="name">openacademy.training</field>
3 <field name="model">openacademy.training</field>
4 <field name="type">tree</field>
3 <field name="arch" type="xml">
6 <tree string="Trainings“ >
7 <field name="name" />

8 <field name="date_start" />
9 <[tree>
10 </field>
11 </record>

W V6.x & WhnT color, toolbar i@, i
<tree colors="blue:usage=='view';darkred:usage=='"internal’ “ >
<field name="usage"/>

<[tree>




View - View - Editable List

Editable L I ic 3% 1) 41 3% it 2 45
{tree string="Trainings” editable="bottom”>

n] iEAE:
*bottom: Fric kLR KB S5 il A
“top: Fric FKAEFR I LA

Consumed Products E

PRODUCT QrY _UOM PRODUCTION LOT
I a| | 000| | Q) | Q




View - View - Tree (1)

o JZIREERIFIHIEALE (parent_id, child_ids)

<{record model="1ir.ui.view” id="openacademy category tree”>
{field name="name”>openacademy. category. tree</field>
{field name="model”>openacademy. category</field>
<{field name="field parent”>child ids</field>
{field name="type”>tree</field>
<{field name="arch” type="xml”>

{tree string="Categories”>

. ” 7 LOCATION NAME
<{field name="name” /> e
Shaop
{/tree> Shop 2
<{/field> v BB
{/record> o
~ Stock
AR
BREE
Shelf 1
Shelf 2




View - View - Tree (2)

I T-Actiont By 41| 32 4L K]

<{record model="1ir.actions. act window” id="openacademy category tree act”>
{field name="name”>All Categories</field>

{field name="res model”>openacademy. category</field>

{field name="view type”>treel/field>

<{field name="view mode”>tree, form</field>

{field name="domain”>[( parent id’, =", False)]</field>

{/record>

o W5t Domain 1L yE H T — 2 H sk (B H L2K).




View - View - Tree (3)

IS P 75| N T Y R E B

{record model="1ir.actions.act window” id="cursus by category act”>
{field name="res model”>openacademy. cursus</field>

<{field name="view type”>form</field>

<{field name="view mode”>tree, form<{/field>

{field name="domain”>[ ( category id’, ’child of’, [active id])]</field>
{/record>

<record model="1ir.values” id="ir action cursus by category”>

<field name="key2” eval=""tree but open’” />

<field name="model” eval="" openacademy. category’ ” />

{field name="name”>Cursus</field>

<{field name="value” eval=""1ir.actions.act window, %d’ %cursus by category act” />
{field name="object” eval="True” />

{/record>




View - View - Graph

<record model="1ir.ui.view” id="view id”>
{field name="name”>view name</field>
{field name="model”>object name</field>
{field name="type”>graph<{/field>
{field name="arch” type="xml”>
{graph string= “Graph Title” type="pie">
{field name="first field”/>
{field name="second field” operator="+" />
</graph>
{/field>
{/record>

e graph ] type & M Al & 1A
pie FHH
bar Ik &




View - View - Calendar

{record model="1ir.ui.view” id="openacademy training calendar”>
{field name="name”>openacademy. training. calendar</field>
{field name="model”>openacademy. training</field>
<{field name="type”>calendar</field>
{field name="arch” type="xml”>
{calendar string="Training” date start="date start” date stop="date stop”>
<{field name="name” />
</calendar>
</field>
{/record>

-date_start JT44 H i1
~date_stop 45 H 8 (7]3k)




1
2
3
4
)
6

<record model="ir.actions.act_window"id="openacademy_training_act">
<field name="name">Training</field>
<field name="res_model">openacademy.training</field>
<field name="view_type">form</field>
<field name="view_mode">tree,form</field>
</record>




View - Menultem

<{menuitem name="Tools”
id="tools menu” />
<menuitem name="OpenAcademy”
id="openacademy training menu”
parent="openacademy. tools menu”
. V4 . . ”
action="openacademy training act” />

OO, WN -




View - Widgets

<field />

. ComboBox

- CheckBox

. Date

. Text

. Integer, Float
<label />
<separator />
<button />
<notebook />




View - Widgets (2)

{form>
<fié1d name="field name” />

</form>

© RGMWRIEE LR B3EE, B ahiEFEEOA I Widgets




View - Widget - Label

{form>

{label string= “IKHIPRZE" />

</form>




View - Widget - Separator

{form>

{separator string= “fr@ Separator”/>

</form>




View - Widget — Button(1)

# object view. xml
{form>

<button type="object” name="python function” string="Label” />
<button type="workflow” name="workflow signal” string="Label”/>
<button type="action” name="%(wizard id)d” string="Label”/>

</form>

# object wizard. xml

<wizard id="wizard id”
keyword="client action multi”
model="openacademy. training”
name="openacademy. training. do something”
multi="True”

string="Label”/>




View - Widget — Button(2)

- type — AJ % {H 15 workflow (default), object, action
workflowK 7 fithi%4ll, KikXnamelg 35 € fsignal. object X7 midif%4l, i Hnamels
PE4E e X% 51k . action For i i, I Fname@ 1148 & 181 (ir.actions.actions)

* special - HRT A3 —ME: cancel, X/RAIH I E T, AMEUEFEE—ZahE. EE:
special fllname & B /1, ANRERIF H L.

« name — 5 €Ml signal & i%, WA JrvEcA, W actiongl il & .
e confirm — s &AL I — M fiTAMessage

« string — XMLV os 4

« icon — 4 1) W B A

- states, attrs, invisible, default_focus — Sifields @ 5 X —5%.




View - Widget - Notebook

{form>

<notebook>
{page string="First page”>

{/page>
{page string="Second page”>
{/page>

</notebook>

</form>




View - Widget - Group

{form>

{group>
{field name="state” />
<button />
<button />
{/group>
{/form>




View — Attributes

« select : T LA Widget [T E&:
1-> —Zd s H
2-> g (F) cykniH one2one_list
oneZ2many_list
estring — 7B B4 many2one_list
password — A7 BN AR LIS B many2many
‘mode="tree,graph”: one2many%i & 47 Bt ) s AR = url
*nolabel — A B I7RAR2E email
~colspan — %) 5 image
ecol — ARFEBIF %8 float_time
«default_focus — A7 B 5 kA BRI FE £ reference

states — fR EAT AIRE P AT B 4%, W1 states="draft,confirm"
«domain — F{ - (many2one, many2many) 5 £ fid g ¢ R0 %
ceval — il ik —Python ik i 5 A 7 B M

required — A7 BE 15 Y
readonly — A7 B & A H 1
sInvisible — A5 Be 75 ] I

widget — A F BRI AHRITTR




Relate Window

*Example:

<act window id="openacademy instructor relate its training”
name="Trainings”
” . ”
src model="openacademy. instructor
res model="openacademy. training”
domain="[(instructor id’, =, active id)]”

/>

B o, WS T B I B TR A




A wizard process: example

Server Client
Send a Form
(a dialog to the user) _ L
—-—-_._._______* Wizard FH T RS H P AT H
send the datas 1. ?ébﬁ%—¢%$gégF l_Lﬁu%]o
.{ entered in the form
process l 2. P HER R, 2P b KIEZHE [F]
form w /2%\2 Lo
datas + click on 3. /zf’:é L%ﬂ:ﬁﬁ)ﬁ i&ﬁﬁhﬁt%%ﬁj’ﬁz,
oo — RS, sl AR & F A
PR
process
result
A J send a form: result




R 10 F(Wizard) — HEH 451

Wizard X451« # module name/ init .py
module_name/ import wizard
module _name_wizard.xml
wizard/
__init_.py # module name/wizard/ init .py
wizard_name.py import wizard spam. py

{!—— module name wizard xml ——>
{?xml version="1.0" encoding="UTF-8” ?>
{openerp>
{data>
<wizard id="openacademy wizard id” keyword="client action multi”
model= “openacademy. training” name= “openacademy. training. openacademy wizard”
multi= “True” string= “Do Something” />

</data>
</openerp>

T
7EX} % openacademy.training & ¥ 47 10 T B 418 inwizard
“openacademy.training.openacademy_wizard”, @7~ H.44°4” Do Something”s




23 S (Wizard) — 22 B 5048 FaE &

# 8 XRGE g i
fields = { ‘instructor id’ : { ‘string’ : ‘Instructor’ , ‘type’

‘many2one’ , ‘relation’ : ’openacademy. instructor’, ' required : True },

‘subject’” : { ‘string’ : ‘Subject’ , ‘type’ : ‘char’ , ‘size’  : 64,

‘required’ : True },

‘“text’” : { ‘string’ : ‘Message’ , ‘type’ : ‘text’ , ‘required’ : True },
“for instructor’ : { 'string’ : 'Send to Instructor’,’ type’ : ’boolean’,
“default’ : lambda *a: False }

}

nnn

form = {?xml version="1.0"7?>

{form string="Mass Mailing”>

{field name= “instructor id” /> <newline />
{field name="subject” /> <newline />

{field name= “text” /> <newline />

{field name="for instructor” /> <newline />
</form>

nnn




23\ S (Wizard) — & e X - Wizard Class

class openacademy wizard(wizard.interface) :
def init(self, cr, uid, vals, context):
return { subject’ : “Default Subject”}
def mass mail send(self, cr, uid, vals, context):

return {}
states = { "init’ : { "actions’ : [ _init], ‘result’ : { "type : form, ’arch’
. form, fields’ : fields, 'state’ : [(Cend, 'Cancel’), Csend, 'Send )], }
b
‘send” : { ‘actions’ : [mass mail send], ‘result’ : { ‘type’
‘state’ , ’state’ : “end }

j
}

openacademy_wizard (" openacademy. training. openacademy wizard’ )

-

Wizard Class & X4 H.[¥JStep, iA#I 4P/ ~Step: init fil send, i —Step, FRG KL E XUfFFIForm Al
w7 B % T . statefEForm AT R 7Nl : Cance 1 Send. ) fidiSend, Wik F/>Step:
send. Step send I Type y’state’, HIHstate’hend, XFRRIZH LN, typeIHEA P : form fil state. Hi
HRINAStepEn) & S i K ikForm, JE#E RN, AKREForm, HPUTHRS sk




Bk e 5 (Wizard)

e X SFR @R A X, ME—XA0E, Mosv.osv_menmery JR%E .

class account_chart(osv.osv_memory):

RHoE . R FEForm 1 E .

Steplf) g X: Form_L[type="action fbuttonifi i ~ —~act_window.

X Wizard 7 LI L R A
1.inheritance

2.workflows

3.complex relation fields
4.computed fields

5.all kind of views (lists, graphs, ...)




B A F(Wizard) — =] (1)

class product_margin(osv.osv_memory):
_name = 'product.margin’
_description = 'Product Margin'

pass
_columns = {

'from_date": fields.date('From’),

'to_date": fields.date('To'),

}
_defaults ={

'from_date': lambda *a:time.strftime('%Y-01-01"),
'to_date": lambda *a:time.strftime('%Y-01-01"),
}

product_margin()

def _action_open_window(self, cr, uid, ids, context):

{act_window name="Open Margin"

res_model="product.margin"
src_model="product.product" view _mode="form"
target="new" key2="client_action_multi"
id="product_margin_act_window"/>

{record id="product_margin_form_view"
model="ir.ui.view" >
<field name="name">product.margin.form
</field>
<field name="model">product.margin </field>
<field name="type">form </field>
<field name="arch" type="xml">
<form string="Properties categories">
<separator colspan="4" string="General
Information® />
<field name="from_date" />
<field name="to_date" />
<group col="4" colspan="2">
<button special="cancel"
string="Cancel" type="object"/>
<button

name="_action_open_window" string="Open
Margins" type="object" default_focus="1" />
</group>
</form>
</field>
</record>




B A F(Wizard) — =~ (2)

E XWizardffJAction:

{act_window name="Open Margin" res_model="product.margin"
src_model="product.product" view_mode="form"
target="new" key2="client_action_multi"
id="product_margin_act_window"/>

18 S st i Wizard :
<menuitem id="main" name="OSV Memory Wizard Test"/>
<menuitem action="product _margin_act window"
id="menu_product_act"
parent="main" />

T $ 4 3 H Wizard .
<button name="% (product_margin.product_margin_act_window)d"
string="Test Wizard" type="action" states="draft"/>




Workflow




Workflow - What is It ?

« HFTXR
o 7 ACTAR R

* ¥ 5 (Activity)
o JTAR R
o G A
o )T R

- i #(Transition)

T FTHERBEEER, % http//shine-it.net/index.php/topic,2494.0.html




Workflow - Declaration

{record model="workflow” id="wkf openacademy”>
{field name="name”>openacademy. wkf</field>
{field name="0sv”>openacademy. training</field>
{field name="on create”>True</field>

{/record>

e ok
1) osv /€A TAEREAEIX S, J&2—1OpenERPI1Xf % Name
2) on_create: RGUHT AT GBI, &5 [N B EHEAZ N G 521 TAE R SE 45 .




Workflow - Activities

o JFUGT AN

<record model="workflow.activity” id="act draft”>

<field name="wkf id” ref="wkf openacademy”/>

<{field name="flow start”>True</field>

{field name="name”>draft</field>

<{field name="kind”>function</field>

{field name="action”>openacademy training draft()</field>
{/record>

 actionffZs:
*Dummy
-Stop All
*subflow
355 — T TAE¥ (example: account.invoice)
function
<7775, 2% openacademy.training

o A LAERA HASSV NIFETTR




Workflow - Activities

o« ST

{record model="workflow.activity” id="act close”>

<field name="wkf id” ref="wkf openacademy”/>

<{field name="flow stop”>True{/field>

{field name="name”>close</field> <field name="kind”>function<{/field>
{field name="action”>openacademy training close()</field>

{/record>

o HHTE] Y R

<record model="workflow.activity” id="act started”>

<field name="wkf id” ref="wkf openacademy” />

{field name="name”>started</field>

<{field name="kind”>function</field>

{field name="action”>openacademy training started()</field>

{/record>

<record model="workflow.activity” id="act standby”>
<field name="wkf id” ref="wkf openacademy” />
{field name="name”>standby</field>
{field name="kind”>function</field>
{field name="action”>openacademy training standby()</field>
{/record>




Workflow - Transitions

{record model="workflow. transition” id="transition 17>
{field name="act from” ref="act draft” />
{field name="act to” ref="act close” />

{field name="signal”>openacademy to close</field>
{/record>




Workflow - Transitions - Methods (1)

class openacademy training(osv.osv):
_name = openacademy. training’

_openacademy training states = [ (draft’, 'Draft’), ( started, ' Started ),
(’ standby’, ’Standby ), ( closed’, ’Closed ), ]

_columns = {

"state’ : fields. selection( openacademy training states, ' State’, readonly=True),

}
~defaults = {
“state’ : lambda *a: ' draft’,
}
def openacademy training started(self, cr, uid, ids):
print self.write(cr, uid, ids, { state’ : ’started })
def openacademy training draft(self, cr, uid, ids):
print self.write(cr, uid, ids, { state’ : ’draft’})
def  openacademy training close(self, cr, uid, ids):
print self.write(cr, uid, ids, { state’ : ’'close’})
def openacademy training standby(self, cr, uid, ids):
print self.write(cr, uid, ids, { state’ : ’standby })




Workflow - Transitions - Methods (2)

R H R % (openacademy _training)iHz & drafbik &, Bl TG
T, Midistartiiddl, RGEH M Jii:openacademy _training_started, CR&SAR
Jystarted.

1. openacademy _training_draft
2. openacademy _training_started




Workflow - Transitions - Group

{record model="workflow. transition” id="transition 17>
{field name="act from” ref="act draft” />
{field name="act to” ref="act close” />
{field name= “group id” ref="openacademy instructor”/>
{field name="signal”>openacademy to close</field>

{/record>




Workflow - Transitions - Conditions

<record model="workflow. transition” id="transition 17>
<{field name="act from” ref="act draft” />
<{field name="act to” ref="act close” />
<{field name="condition”>...</field>
{field name="signal”>openacademy to close<{/field>
{/record>

o MITIE
{field name="condition”>test draft to started()</field>

# openacademy. py
def test draft to started(self, cr, uid, ids):
objs = self.browse(cr, uid, ids)
for obj in objs:
if obj.note1.find( do not start’) > -1:
return False
return True

« EXxpression

{field name="condition”> (order policy== prepaid ) or ((order policy== postpaid’) and
shipped)</field>




SXW -> RML

‘RML -> PDF

‘RML XML
*ReportLab 75 4*RMLJY, PDF

*OpenOffice Report Designer

tiny sxw2rml. py training. sxw > training. rml




Report (2)

module name/
module name report. xml
report/
~ 1nit .py
report name. py




Report (3)

{report id="report openacademy training”
string="Summary Of OpenAcademy”
model="openacademy. training”
name="openacademy. training. report”
auto="True”
rml="openacademy/report/openacademy training.rml”
keyword="client print multi”
multi="True”
menu="True” />




Report (4)

from report import report sxw
import time
class openacademy report (report_sxw.rml_parse) :
def init (self, cr, uid, name, context):
super (openacademy report, self). init_ (cr, uid, name, context)

self.localcontext.update ( {
“time’ : time, ~instructor : self. print_instructor,

})

def print instructor(self, instructor id) :
return ‘Toto’

openacademy_report (" openacademy. training. report’, " openacademy. training’,
“addons/openacademy/report/openacademy training. rml’, parser=openacademy_report,
header=True)




Report (5)

<?xml version="1.0"7?>
<{document filename="test.pdf”>
<{template pageSize="(595.0,842.0)” title="Test” author="Martin Simon” allowSplitting="20">
<pageTemplate id="first”>
{frame id="first” x1="5.0" y1="57.0" width="590" height="828"/>
{/pageTemplate>
{/template>
{stylesheet>
<{paraStyle name="Heading” fontName="Helvetica” fontSize="14.0" leading="17"
spaceBefore="12.0” spaceAfter="6.0"/>
<{paraStyle name="P1” fontName="Times—-Roman” fontSize="6.0" leading="8" alignment="LEFT”/>
{/stylesheet>
{story>
<{para style="Heading”>
{font face= “Times—Roman” size= “16.0” > Detail Training</font>
{/para>

{para style="P1”>

{font face="Times—Roman” size="12.0">Module OpenAcademy</font>
{/para>
<{/story>

</document>




Report (6)

HAZAAAPython UL IR [[et]]

{story>
{para style="Heading”>

{font face="Times—Roman” size="16.0">Date: [[ time. strftime( %Y-%m—%d ) ]]</font>
{/para>

class ‘report’ H1 ] LUK R 75 2L 1 Hdf 0 % %€ Alocalcontext fIERMLAEH]

class openacademy report (report sxw.rml parse):
def init (self, cr, uid, name, context):
super (openacademy report, self). init (cr, uid, name, context)
self. localcontext. update ({
“time’ : time,
“instructor’ : self. print instructor,

})




Report - Available Objects

#3% F 3 ‘localcontext’ 1, RGEINEL T T Mid—LEx g n] fEHR R ATH -

 user: A FH PSR

« company: 4§ P fE A F X R

« repeatin: Python /5% 'repeatin'

- setlLang: 'setLang' /52

. setTag: 'setTag'Jj 2

« removeParentNode: 'removeParentNode' /5%
- format: ‘format' Jy %

« formatLang: ‘formatLang' /7%

* logo: ~Hllogo

* lang: ~H]lang




Report - repeatin

repeatIn J5ik:

{story>
<{para style="Heading”>
{font face= “Times—Roman” size= “16.0” > Detail Training </font>
{/para>
<{para style="P2”> [[ repeatIn(objects, o ) ]]</para>

{story>
{para style="Heading”>
{font face="Times—Roman” size="16.0"> Detail Training </font>
{/para>

{section>
<para style="P2”> [[ repeatIn(objects,’ o) ]]</para>
{section>
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Web-Services - Python

Import £, xmlrpclib

import xmlrpclib

ER:
REJCTRE I, AL AU GE 1D, BRI 4




Web-Services - Python - Login

import xmlrpclib

database = “terp”

” . V/4
username = ~admin

password = “admin”

socket = xmlrpclib. ServerProxy( “http://localhost:8069/xmlrpc/common” )

user_id = socket. login( database, username, password )




Web-Services - Python — search

socket = XMLRPC::Client.new( "http://localhost’, ’/xmlrpc/object’, 8069 )

ids = socket.execute ( database, user id, password, ‘openacademy.instructor’ ,
‘search’ , [])

instructors = socket.execute ( database, user id, password, ’openacademy. instructor’,
"read’, ['name’, “email’] )

for instructor in instructors:
print “instructor: %20s — %s” % (instructor[ ‘name’ ], instructor[ ‘email’ ] )




Web-Services - Ruby

Import £, xmlrpc/client

require 'xmlrpc/client’

ER:
REJCTRE I, AL AU GE 1D, BRI 4




Web-Services - Ruby — Login

require 'xmlrpc/client’

database = "terp"
username = "admin”
password = "admin”

socket = XMLRPC::Client.new( 'http://localhost’, '/xmlrpc/common’, 8069 )
user_id = socket.login( database, username, password )




Web-Services - Ruby - Search

socket = XMLRPC::Client.new ('http://localhost',’ /xmlrpc/object’, 8069 )

ids = socket.execute ( database, user id, password, ’openacademy. instructor’,
“search’, [])

instructors = socket.execute ( database, user_id, password,’ openacademy. instructor’,
"read’, ['name’, “email’] )

for instructor in instructors:
print “instructor: %20s — %s” % [ instructor[ name’], instructor[ email’] ]




OpenERPii& — Debug Level

LOG NOTSET = 'notset’
LOG_DEBUG_RPC ='debug_rpc'
LOG_DEBUG2 = 'debug?2’
LOG_DEBUG = 'debug'

LOG _INFO ="info'
LOG_WARNING = 'warn’
LOG_ERROR ="error’
LOG_CRITICAL = ‘critical’




OpenERPiFiA — XMLRPCIHRIEF

THIERXT % account.payment.term’ KI5 % ‘compute’ %5 Hi{E

# -*- encoding: utf-8 -*-
import xmlrpclib #3 Axmlrpc/Zi, XN & python (bR VE 2 .

username ='admin' #H )7 &k 4

pwd = "123" #H] 7 (16 s, RN B O

dbname = 'ch01' #5dl EMKkE 4, WA E R H k&4

# %Qﬁ’ EX’/{%LUld

sock_common = xmlrpclib.ServerProxy (‘http://localhost:8069/xmirpc/common’)
uid = sock_common.login(dbname, username, pwd)

#replace localhost with the address of the server

sock = xmirpclib.ServerProxy('http://localhost:8069/xmlrpc/object')

res = sock.execute(dbname, uid, pwd, ‘account.payment.term’, ‘compute’,1,2000)

print res




Backup/Restore

. i EEE

pg dump —b dbname —-Fc —f filename. dmp

o Rt B S

tar cf filestore.tar filestore/dbname

KRB B

pg restore —d dbname filename. dmp




More Information !
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More Information !

OpenERP: http://www.openerp.com

OpenERPH i x: http://shine-it.net/index.php

H1[E OpenERPI 1] #1:[X :  http://openerp-china.org/

OpenERP 1 S [ JHFE
http://shine-it.net/index.php/topic,882.0.html

Forum: http://www.openerp.com/forum

Wiki: http://www.openerp.com/wiki

LaunchPad: http://www.launchpad.net/~openerp/




Contribution

As OpenERP is OpenSource, please feel free to contribute !!!

How to Contribute:
http://openerp. com/wiki/index. php/Community:How To Contribute

LaunchPad: http://www. launchpad. net/ openerp/




